EARAROBEEIERT — 2 N— IBISH —F

20185F3A25H (H) 21m£R1B

mﬂﬁ% 3% B3 EEE R
[AE4£] 1% :250,000” ~ 23#%&:57,000 M  33&:30,000” . 437&:22,000MH . 57&:15,000 {
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. . 3 | EEEGLA 1:34.1 1-1-1-1 | 40.3| — 5 471 | BERZ (£R)
1Y 2| YR fOo< > # 5.0 (=) (+1) '_G;) Jr—AbEYa>
L5278 — B:HhIxTILIFTUR BRT U H IS
i - ep— _ -0 _ IHZ (£R)
2 1 RS ) % 3 ;_0 (17;:;1;) 2-2-2-2 | 40.1 6 (::s) i
LA Lk—bL B:oA I FvFr Bl 1#
N HFEAX : —-3-3- - £H—8 (£R)
3l 6 EUNAHFT) # 3 56.0 1'(344)'9 6353 406 1 (4551) Eﬁ%;?
LO—Y XA x4 B:ahIvi)—> w -
— e EFREA : —3-4- — £H—8 (£R)
ABs| LTt THELY 3 ED 7 A IR R PG |
R:ZvY—>be—0O— B:4—LKyTyY EEAN )
< HHRE :35. -5-6- . — SiEtRez (£R)
5l1lq|nzsrzz— i 3 =5 1(315)9 4-5-6-5 | 41.0 9 ;1337) Az @R
RLiN=YU54 BN/ TUT BEEHT Y RS9y - 77— L
X R SEREE -36. SN . — afEke (£R)
6l5|5|3VT=TYTV i = 1 ?46) ! A ha ’ (:T;) AR
R:TUF—Y BFayIATLT— 18 45
N R MEBE : -6-7- — ZXRg (&R
7 7 TYZBZIL v A > 4 3 516)3 (11.316/.2% 4-6-7-7 | 41.2 7 (ﬁg) i
ST I FNVETE NI = BN N SIS
8 4| DVETTUHLE it 3 5541_%%¢ (11:317/.22) 8-8-8-8 |40.9| — | 11 gz) %izﬁéﬁﬂ)
LB ALINT Ry TR BT =N # HBE
ANIL T 4 3 | HEH 1:37.5 9-9-9-9 |40.5| — 4 485 | SHAEH (£R)
9/8(10 4NV =)L 56.0 G I RO
R:TIRATTaN B TI/TFHLT e
S A i 3 | REAA 1:39.2 10-10-9-10 | 42.2 | — 10 | 444 |SARK (£R)
10078 | *ATKY 0 ®) ) | W) Tr-—ztEvar
g1 hT7Ly X B:ARTARRLZ tEFE  BERE
o . 3 | hBED — - — — 2 493 | DNEEFNE (2R)
w79 7HA—Y ¥ 5.0 (k) (o7) | AT
R:Va-h7F—/ B.T7IATEZAH— HR& AXMEXT-T0
® I —F—@EBIERL
13—7+— 2,11,3,(1,7),(5,6),4,10,8
2a=7r= 2,11,(3,6),1,(5,7),4,10,8
Gal=5r= 2,11,6,3,5,1,7,4,(8,10)
40—+ — 2,11,6,3,(1,5),7,4,10,8
[ N3
B OB 2 1,530 714K 2-11 2,090M % E 2-8 5,000M RPEL ) 2-6-11 5,620/
BB 2 330M 2-6 450M B 2-8 14,450 3EE 2-11-6 43,980
1" 280M 6-11 830M B E 2-11 11,730M
6 150/ B H 2-11 13,690

ABICOVWTRDTEEERROODE. TR LIV,




